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Everyday world: X Y
Quantum world: X Y
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Either that, or the world
(“Many Worlds” interpretation)
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Quantum Fact: All atoms of same type are fruly identical
Need only send the information, not the atoms
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Question: How do we measure the “"quantum information”
in Alice’'s atoms?

Quantum Facts: Heisenberg Uncertainty limits the amount
of information that can be extracted
Worse: Certain guantum information
cannot be measured at alll
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v Must be a time delay (speed of light)

v' Send only information; reassemble using atoms on Mars

v' The original Alice is destroyed (teleporting, not copying)

v Quantum teleportation is possible using entanglement
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